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(28) If the vector # is a linear combination of # and & then the vector w must be a linear combination
of 4 and v.

t
@ V€ £ =v # W
(29) If matrices A and @both invertible then the matrix A + B must be invertible too.
% T, =# B--IL,
e =c

(where @ and b are arbitrary real numbers) form a subspace of RY.
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(30) The vectors of the form

Q. oD

(31) There exists a 2 x 2 matrix A such that A J = [ ! :l and A [ [

O AR A=) 2

(32) There is a matrix A such thatA[ 1] [1 2
Oyl (/?{ )

(33) If a subspace V of R™ contains none of the standard vectors €1,€s,...,€, then V consists of the

zero ve;’for@ “ V\( \ >
/ !

(34) If A and B are any two 3 x 3 matrices of rank 2 then A can be transformed into B by means of
elementary row operations. ' © O
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(35) {(1) kJ = [ L 3k} for all real numbers k
(&) + ol ply
(36) If i subspace V' of R® contains the standard vectors €1, €2, and €3 then V must be R3.
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